Gil-M2-Lesson 10

1. Solve. Match the number sentence to the ten-plus number bond that helped you solve the problem.
Write the ten-plus number seitence.

- 13 * For 7+ 6, | can make ten with
7 because it's only 3 away from
ten. | have to get the 3 out of
0. t know 10 -+ 3 in a snap!

=17
' For 8 + 9, since 9 is one
addend, | can get the 1 out
of the other addend! |
- 14 broke the 8 apartinto 7

and 1 to make ten with 9.

2. Complete the number sentences so they equal the given number bond.

15 =9+6 Since 9+ 6 = 15and 10+ 5 = 15,
Fcan say the true number sentence:

8+ 7 =15 7 84 6=10+5

is5 =7+ 8

10 Lesson 10: Solve probltems with addends of 7,8, and 8. EUREM
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